
https://www.geekcert.com/a2090-544.html
2024 Latest geekcert A2090-544 PDF and VCE dumps Download

 

 

 

A2090-544Q&As

Assessment: DB2 9.7 Advanced DBA for LUW - Assessment

Pass IBM A2090-544 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/a2090-544.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest A2090-544 Dumps | A2090-544 PDF Dumps | A2090-544 Study Guide                                1 / 3

https://www.geekcert.com/a2090-544.html
https://www.geekcert.com/a2090-544.html
https://www.geekcert.com/a2090-544.html


https://www.geekcert.com/a2090-544.html
2024 Latest geekcert A2090-544 PDF and VCE dumps Download

QUESTION 1

Which action(s) will cause a compression dictionary to be removed from a table? 

A. Set the table COMPRESS attribute to NO. 

B. Set the table COMPRESS attribute to NO;run REORG against the table. 

C. Set the table COMPRESS attribute to NO;run INSPECTESETDICTIONARY against the table. 

D. Set the table COMPRESS attribute to NO;run RUNSTATS against the table. 

Correct Answer: B 

 

QUESTION 2

Which statement is true about clustering indexes in a partitioned database? 

A. The partitioning key column(s) should be added to the clustering index with the INCLUDE option. 

B. The clustering index column(s) should be suffixed by the partitioning key column(s). 

C. The clustering index column(s) should be prefixed by the partitioning key column(s). 

D. The partitioning key column(s) should be added immediately after the column in the clustering index with the highest
cardinality. 

Correct Answer: C 

 

QUESTION 3

What is the minimum authority required to execute the LOAD command? 

A. DATAACCESS 

B. SQLADM 

C. ACCESSCTRL 

D. SYSCTRL 

Correct Answer: A 

 

QUESTION 4

If your DB2 server is not responding (hung), and you cannot run DB2 commands from the Command Line Processor,
which utility can be used to list the applications currently connected to the database MYDB? 

A. db2dart 
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B. db2apptrk 

C. db2acsutil 

D. db2pd 

Correct Answer: D 

 

QUESTION 5

Which method should be used to construct an LBAC security component that represents a person\\'s level of trust? 

A. SET 

B. TREE 

C. ARRAY 

D. ORDER 

Correct Answer: C 
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